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Settaggio di default manuale
Manual default setting

Manuelle Default-Einstellung
Configuration par défauit manuelle
Ajuste de default manual
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Ekip C Dip LSI-LSIG
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(Neutral setting on fig. 10)
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LED Color CONDITION Run time
o Green LED Fixed = Device active
L Red LED Fixed =L pre alarm (0,9 * 11 <1< 1,2 * I1) I LED Blinking = L alarm (I> 1,2 * I1)
S Red LED Blinking = S alarm (I >12)
G Red LED Blinking = Galarm (I > 14)
LIS|1|G Red Al LED Blinking = Parameters inconsistency -L=SorL=lorS>1
l ¢ AN LED Blinking without Parameters inconsistency = generic fault (please contact ABB)
4 Ekip C Dip LSI-LSIG
Esempio - Example - Beispiel - Exemple - Ejemplo - %141
1=In|%( (0.4-+|— 12=Inx[Z] |I3=Inx2 G l4=Inx[Z] In = 1OOA( )
neinx (0 48 =0 B — _ _
o 1=10In| T 11 = 100x(0,4+0,08+0,32)=80A
8138 2 8 vie| N 2l 3o | [-l2]~i8) S8[Bltace) t = 125 @240A (311)
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Sl 3ugmaas =320 ospar02 L 0.122F20.4
| Ll 0.1x9"50.4 0.2.5%0.8
()
In(A)] 04 [042]044] ]006] 098] 1
ECUL| 10 [ 4 [ 42 |44 96 [ 98 | ©
JEC-UL| 25 | © | 05| 1 24 | 245 | 25
UL_| 60 [240][ 252|264 | 576 58,8 | 60 SE—
xT2 [ TEC | 63 | 252 | 265 27.7] | 605 617 | 63
JEC-UL| 00 [ 40 | 42 | 44 96 | 98 | 100
UL | @5 | 50 | 525] 5 20 | 225] 125
JEC_| 160 | 64.0|67.2 | 704 | |536] 156.8 | 160
JEC-UL| 40 | %60 %8| 76 | | 384392 40
UL | 60 | 24 [252 | 264 [ 576568 ] 60
IEC_| 63 | 252 | 26,5] 27.7| | 605] 617 | 63
74 IEC-UL| 100 [ 40 | 4 | 44 96 _| 98 | 100
UL | 50 | 60 | 63 | 66 W4 | A7 | 150 |
JEC_| 160 | 64 | 672|704 | |536] 68| 160 ‘
UL | 225 ] 90 | 945 99 21 | 2205] 225 1 :
JEC-UL| 250 | 100 | 105 | 10 240 | 245 | 250 3 3
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5 Ekip Dip LIG
Esempio - Example - Beispiel - Exemple - Ejemplo - %140
N Ainx (0.4 +) [e=nE |G 4= g EpDIp In = 100A H=Inx (0.4 HZ))
3l | EEEE e SO FEERR 1 = 100x(0,4+0,08+0,32) =80A L -
Sislsis = sls tH = 125 @240A (31) S8 218 t1(s)
g8aA A LT sis/ss
Test/Prg
& o 1=311| = 12 ° ©00.1ms/"=0. E H E H H
] 36
o 1=3I1]| = 12
= 36
11(In)
In(A)] 04 [0,44]048]..]092] 006 1
IECUL] 10 | 4 | 44 | 48 92 | 96 | ©
JECUL] 25 | 10 | 0 | 2 23 | 240 25
UL 60 | 24,0]26,4] 28,8 552 | 57,6 | 60 -
xT2 [ JEC | 63 | 252 | 27,7 30,2] | 58,0 605 | 63 S—r t =L
IEC-UL| 100 | 40 44 48 92 96 100 L3
UL_| 25 [ 50 | 550 | 60 T5_| 20,0 | 25 . H
IEC 160 | 64,0] 70,4 | 76,8 1472 53,6 | 160 "G
JEC-UL| 40 | 6,0 776 | B2 36,8 | 384 | 40 S
UL_| 60 | 24 | 264288 552 | 57,6 | 60 @
IEC_| 63 | 252 | 27.7| 30,2 | 58,0605 | 63 b & |
74 [EEC-UL| 100 |40 |42 |48 92 | 96 | 100
UL | %0 [ 60 | 66 | 72 B8 | %4 | 150 b n
JEC_| 160 | 64 | 704|768 U72| 53,6 | 60 L
UL | 225] 90 [99.0] 108 207 [2%6,0] 225 14 N 1B
JEC-UL| 250 | 100 | 110 | =20 230 | 240 | 250
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Esempio - Example - Beispiel - Exemple - Ejemplo - 141

Ekip C Dip LSI-LSIG

JLI1=In 04 +2) | @ Z=mx= | is=inxE] G u=inx[Z [ @yEkip ¢ Dip LSIG In = 100A
imax=in JO =" =Nl — 12 = 100x(1+2)=300A
8‘882‘%‘:%,@,\."; wl o] §[&[8Bltacs) 3
2SSl 8 P2~ bleell |2 V8] 8|S &[4 § t2 (Ft=ON) = 0,1s @1000A (10In)
TR TR e I B o
U U ooooad
190 3egra36=31Sl0 o5mgrao2 ILTE Sh1eam04| 5 8 o
12&" 60 - 2 0.2:""50.8 est/Prg
2 (In)
A 1] 51 2 [ 25] 3 [ 3514515516561 7 [ 751 8 [85] 9 [ ©
JEC-UL] 10 | 10 | % [ 20 | 25 [ 30 | 35 | 45 | 55 | 65| 70 | 75 | 80 | 85 | 90 | 00
IEC-UL| 25 | 25 | 375] 50 |625] 75 | 875] 1B | 18 | %3 | 175 | %8 | 200 | 293 | 225 | 250 ”E@
UL | 60 | 60 | 90 | 20 | 10 | 180 | 210 [ 270 | 330 [ 390 | 420 | 450 | 480 | 510 | 540 [ 600
XxT2 [ 1EC_| 63 | 63 | 945] 126 | 158 | 189 | 221 284 | 347 | 410 | 441 473 | 504 | 536 | 567 | 630 —O
JEC - UL| 100 | 100 | 50 | 200 | 250 | 300 | 350 | 450 | 550 | 650 | 700 | 750 | 800 | 850 | 900 | 1000
UL | @5 | @5 | 188 | 250 | 313 | 375 | 438 | 563 | 688 | 813 | 875 | 938 | 1000 | 1063 | 11225 ] 250
JEC_ | %60 | 160 | 240 [ 320 | 400 | 480 | 560 | 720 | 880 [1040 | 120 | 200 | 280 | 1360 | #40 [ 600
JEC-UL| 40 | 40 | 60 | 80 | 100 | 1220 | %0 | 80 | 220 | 260 | 280 | 300 | 320 | 340 | 360 | 400
UL [ 60 | 60 [ 90 | 0 | %0 | 180 | 270 | 270 [ 330 | 390 | 420 | 450 | 480 | 510 | 540 | 600
JEC_| 63 | 63 | 94,5] 126 | %8 | 189 | 221| 284 | 347 | 410 | 441 473 | 504 | 536 | 567 | 630 s
74 |JEC-UL| 100 | 100 | 150 {200 | 250 | 300 | 350 | 450 | 560 | 650 | 700 | 750 | 800 | 850 | 600 [ 000 ‘ 1
UL | 50 | 150 | 225 | 300 | 375 | 450 | 525 | 675 | 825 | 975 | 1050 | 125 | 200 | 2275 | 1850 | 1500 ; | E
JEC__ | 160 | 160 | 240 | 320 | 400 | 480 [ 560 | 720 | 880 [ 1040 | 1120 [ 200 | 280 | 1360 | #40 [ 1600 | i 0o
UL | 225 | 225 | 338 | 450 | 563 | 675 | 788 | 1013 | 1238 | %63 | 1575 | 1688 | 1800 | 191 | 2025] 2250 i i g
JEC - UL| 250 | 250 | 375 | 500 | 625 | 750 | 875 | 1125 | 1375 | %625] 1750 | 875 [2000] 2125] 2250 2500 1 1 12 13 T
Ekip C Dip LSI-LSIG, Ekip Dip LIG
Esempio - Example - Beispiel - Exemple - Ejemplo - 140
I13=Inx
In = 100A —
13 = 100x(1,5+5,5)=700A
n
- (9]
JLI1=InI (0.4 -il-@) S @x@ l3:=I|n)( G gnx@ myEkip C Dip LSIG
max=In
1=10In
= 10| ® —[2lae]| 8§18
S5[8 78 o) o | 1210 ST o [ ) @ H
(9] 30 m36!1=3 Sl 05pam02 o 1eamd04 EE
12R" 960 0.1"F90.4 02.""40.8
B3 (n)
In (A) 1 15 2 2,5 8] 35| 45 515 6,5 7 7,5 8 8,5 9 10
IEC-UL| 10 10 15 20 25 30 35 45 55 65 70 75 80 85 90 100
IEC-UL| 25 25 | 375] 50 | 625 75 875 113 138 163 175 188 | 200 | 213 | 225 | 250
UL 60 0 90 120 | 150 180 10 | 270 | 330 | 390 | 420 | 450 | 480 | 510 | 540 00 t
XT2 IEC 3 3 |1945] 126 | 158 189 21| 284 | 347 | 410 | 441] 473 504 | 536 | 567 30
JEC - UL| 100 | 100 | 50 | 200 | 250 | 300 | 350 | 450 | 550 | 650 | 700 | 750 | 800 [ 850 | 900 | 1000 —O
UL 2 25 | 188 | 250 13 75| 438 | 563 8| 813 | 875 | 938 | 1000 | 1063 | 1125 | 1250
IEC 16! 160 | 240 | 320 | 400 | 480 | 560 | 720 0 | 1040 | 1120 | 1200 | 1280 | 1360 | 1440 | 1600
IEC-UL| 40 40 60 80 100 20 4“0 180 0] 260 | 280 | 300 | 320 | 340 | 360 | 400
UL 60 0 90 120 | 150 180 10 | 270 | 330 | 390 | 420 | 450 | 480 | 510 | 540 00
IEC 3 3 |1945] 126 | 158 189 21| 284 | 347 | 410 | 441] 473 504 | 536 | 567 30
XT4 |EC - UL | 100 00 | 150 00 | 250 | 300 50 | 450 | 550 | 650 | 700 | 750 00 | 850 | 900 | 1000 | i
UL 50 50 | 225 00 | 375 | 450 | 525 75| 825 | 975 | 1050 | 1125 | 1200 | 1275 | 1350 | 1500 | 3
IEC 160 | 160 | 240 20 | 40 480 | 560 | 720 | 880 | 1040 | 1120 | 1200 | 1280 | 1360 | 1440 | 1600 } | o
UL 225 | 225 | 338 50 | 56 675 ] 788 | 1013 | 1238 | 1463 | 1575 ] 1688 | 1800 | 1913 | 2025] 2250 i | | —
IEC - UL | 250 | 250 | 375 | 500 | 62 750 | 875 | 1125 | 1375 | 1625 1750 | 1875 |2000] 2125] 2250 | 2500 14 H 12 13 T
Ekip C Dip LSIG, Ekip Dip LIG
Esempio - Example - Beispiel - Exemple - Ejemplo - 140
JLrmpoe o] gz | joense] G| g com s In = 100A
Y e 0| 0 0|, lNQ = =
82828 t10) - 2fn ]2 e | e~ ia[S8 8] | F (=) |4 = 100x(0,2+0,25)=45A
T LI TEL I TLIT “=020@ 11
Ol 3egmmas =31 Sl osarmo2 |- ol 0.1s0.41 8
12560 0.1"90.4 / Test/Prg
12 (In)
In(A)] 02 [025]045] 055]0.75] 0.8 | 1
EC-UL[ 0 | 2 [ 25| 45|55 [ 75 [ 8 | ©
IEC-UL| 25 | 5 |6.25] 13 | 18.8] %8.8] 20 | 25
UL [ 60 | 2 | B [ 27 [ 33 | 45 | 48 | 60 |] |E
XxT2 [ 1EC | 63 | 2.6 | %58 | 28.4|34.7]| 47.3 | 50.4 | 63 t
IEC-UL| 100 | 20 | 25 | 45 | 55 | 75 | 80 | 100 —O
UL | @5 ] 25 | 313 |56.3 | 68.8]93.8] 100 | 25
IEC_| 160 [ 32 | 40 | 72 | 88 | 20 | 28 | %0
JEC-UL| 40 | 8 | 10 | 1 | 22 | 30 | 32 | 40 )
UL [ 60 | 2 | B | 27 | 33 | 45| 48 | 60
JEC_ | 63 | 126 | 58 | 284|347 47.3 | 504 | 63
w74 |JEC-UL| 100 [ 20 | 25 [ 45 | 5 | 75 | 80 | 100
UL | 150 | 30 | 375] 675]825] 13 | 20 | 550
IEC_| %60 | 32 | 40 [ 72 | 88 | 20 | 28 | %0
UL | 225] 45 | 56.3| 101 ] 24 | %69 | 180 | 225
IEC-UL| 250 | 50 [625] 18 | 138 | 188 | 200 | 250
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Settaggio elettronico

Ekip C Dip LSI-LSIG

Electronic setting L 1i=inx ©4 +i%) | G i2=inx[E] | a=inxZ] G la=inx[=) |[ gyEXip C Dip LSIG
elektronische Einstellung NEE 1=10in)
omiaion Socion S2IE H o] o] i
Configuration électronique clolslcle bl ) ki (|,
Ajuste electrénico oGl GAARADGABGE
T ‘ S
HTRE 9] 3paFa36!i=31 2o o5 parao.2 I 5 (1}
12760 0.1." 0.4 3
S ANGE Rem = Enalbed E E
Ekip LSI Modifica settaggi elettronici e invio comandi sa System Bus
Eki IpLSIG DEFAULT See System Interface 99 Y
E 1SDH001115R0001 . . . . 3=
” " 04 1Insten 0011 Changing settings and sending electronic commands from o=
L - S Tnsep 0 n System Bus >
t1 60 s 3..60sstep3s
Curve type t=k/ P t=k/F|t=k Andern von Einstellungen und Senden elektronischer Befehle
S 12 OFF 1...10 In'step 0.1In vom System-Bus
t2 04s 05..04sstep 0.01s - . o Loc | Disabled
| = an oo Ol Modification des paramétres et 'envoi de commandes
S o Nstep . 1N électroniques au Bus Systéme Rem | Enabled
- 14 OFF 0.2 ...1Instep 0.02 In
t4 0.8s 0.1...0.8 sstep 0.05s Cambio de la configuracion y el envio de comandos
* Ekip LSIG only electronicos de System Bus

(Neutral setting on fig. 10)

10 NEUTRAL SETTING XT2-XT4 3p-4p
CB Poles Neutral setting Default setting
3p + ExtNe Always only by means of Ekip T&P or System Bus ON: 100%
4p Always only by means of dip switches ON; 100%
Esempio - Example - Beispiel - Exemple - Ejemplo - %14
Dip switches setting | Lihxos B | S el | |3inxE] G o || b O Oip LSIG
o) I=10in|
example with 4p: JEEEERE BN e N BRI
Ne=ON: 50% () FEALPELL LI FLEL T LT
g e || v
(*) = With In<100 A, the neutral setting is fixed to 100%
11 TRIP TEST

PROCEDURA DI CONTROLLO

- Collegare e accendere
Ekip TT

- CONTROLLO LED:
tutti i led del relé si
devono accendere

- ULTIMA INDICAZIONE DI TRIP:
se presente nella memoria
del rele

-LED: &
resta acceso finché I'unita TT
e’ connessa al relé

- PRONTO PER TRIP

DIAGNOSTIC PROCEED

- Connect and switch on
Ekip TT

- UNIT CHECK LED:
all the leds in the relay
must come on

- LAST TRIP INDICATION:
if present in the relay's
data store

- LED: () remains on for
as long as the TT is
connected to the relay

- READY TO TRIP

© Copyright 2010-2023 ABB. All rights reserved
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DIAGISTIKABLAUF
- Verbinden en inschakelen

Ekip TT

- EINEITHSPRUF-LED:

PROCEDURE DE DIAGNOSTIC PROCEDIMIENTO DIAGNOSTICO i

- Brancher et allumer

- UNIT CHECK LED : toutes les

Alle LEDs des Relais missen

aufleuchten

- ANGABE DER LETZTEN AUSLOSUNG:

Wenn im Speicher des Relais

vorhanden.

- LED: () Bleibt angeschaltet,

Ekip TT

diodes du relais doivent
s'allumer

- LAST TRIP INDICATION :
si présente dans la mémoire

du relais

- DIODE: () reste

bis die Einheit TT an die Relais

angeschlossen ist.

allumée tant que 'unité TT

est connectée au relais

- AUSLOSEBEREIT - PRET A DECLENCHER
LED Ekip TT
Verde Rosso
Green Red
Grln Rot
Vert Rouge
Verde Rojo

Device ON

BEIES

Dispositivo acceso

Einrichtung eingeschaltet
Dispositif allumé
Dispositivo encendido

Sostituire batterie
Change battery
Batterie ersetzen
Remplacer batteries
Sustituir baterias
TG

PRESS

bl

- Conectar y encender - HH AT IFEKip TT
Ekip TT

- LED CONTROL UNIDAD: todos los — Jiifl#sZhAESG 4T :
led del relé se deben # DR TR AT UK AR
encender

- INDICACION ULTIMA ACTUACION: - Hij /it 1487~
si esté presente en la memoria L SRLE AN 2% N A A7
del relé

- LED: (®hqueda encendido - LED#ERAT : (O TTi%H:

mientras la unidad TT B AN2% 5 R
permanezca conectada con el relé
- LISTO PARA LA ACTUACION - Wit
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